



Property Services

1960 CTY RD DK

Sturgeon Bay, WI 54235

(920) 824-5735

**Complete Property Maintenance for all types
of properties from the basic seasonal retreat to some
of the finest estates in Door County!**

Office Hours: Monday – Thursday 9am-4pm

Friday, Saturday, Sunday Closed

Friday Deliveries Only

Mulch and Stone Delivery

Deliveries: Delivery is to the Door County Area of one type of landscape mulch, stone, screened compost, or screened topsoil mix. Return Deliveries may be subject to restocking fees. Scheduled deliveries will be made on Fridays. Please give at least one-day notice for deliveries. Note: Deliveries only NO ON-SITE PICKUP. You can see our selection on our website at www.ahlswe.deinc.com or you can view our material in our office.

Delivered Prices, all prices per yard!

Installation Price does not include any weeding or clean-up of beds prior to mulching. This service must be scheduled with the office and billed at an hourly rate of \$80/hr.

Mulch	1yd Delivered	2yds Delivered	3-6yds Delivered	7-12yds Delivered	13-17yds Delivered	Each Yard Installed
Chocolate \$47.00	\$103.00	\$75.00	\$53.00	\$52.00	\$51.00	\$137
Ruby Red \$47.00	\$103.00	\$75.00	\$53.00	\$52.00	\$51.00	\$137
Golden \$47.00	\$103.00	\$75.00	\$53.00	\$52.00	\$51.00	\$137
Premium Hardwood \$40.00	\$96.00	\$68.00	\$46.00	\$45.00	\$44.00	\$130
Econo Mulch \$22.00	\$78.00	\$50.00	\$28.00	\$27.00	\$26.00	\$112
Cedar \$58.00	\$114.00	\$86.00	\$64.00	\$63.00	\$62.00	\$148

Stone	1yd Delivered	2yds Delivered	3yds Delivered	Each Yard Installed	
Vivid Lake Stone 3/4", 1 1/2", 3"-6"	\$65.00	\$121.00	\$93.00	\$84.00	Hourly
1 1/2" Mississippi	\$153.00	\$209.00	\$181.00	\$172.00	Hourly
Crushed Granite	\$109.00	\$165.00	\$137.00	\$128.00	Hourly
Field Stone Cobble (Not in stock)	\$200.00	\$256.00	\$228.00	\$219.00	Hourly
1 1/2" Basin Blue Stone	\$117.75	\$173.75	\$145.75	\$136.75	Hourly

Gravel	1yd Delivered	2yds Delivered	3yds Delivered	Each Yard Installed	
3/4" Road Gravel	\$40.00	\$109.00	\$75.00	\$60.00	Hourly
Quarry Fines	\$40.00	\$109.00	\$75.00	\$60.00	Hourly
3/4" Clean Fractured Stone	\$43.00	\$112.00	\$78.00	\$63.00	Hourly

Top Soil	1yd Delivered	2yds Delivered	3yds Delivered	Each Yard Installed	
Screened Topsoil Mix	\$55.00	\$111.00	\$83.00	\$70.00	Hourly
Screened Compost	\$60.00	\$116.00	\$88.00	\$75.00	Hourly

Note: Mulch and Stone prices subject to change without notice. Ahlswe.de Inc. is not responsible for damage to trucks and trailer when loading.

Average coverage of 1 cubic yard

At this depth (inches)	Covers This Area (Square Feet)
1" Deep	300 sqft
2" Deep	150 sqft
3" Deep	100 sqft
4" Deep	75 sqft

Cubic yards = (Length x Width x Depth)

Service Charges

Lawn Mowing

Note: Prices range with the difficulty, optical in the lawn and drivetime. Prices subject to change without notice. Lawns over 6" will be billed at an hourly rate. The first mowing will determine the average price. These price are for weekly mowing additional charges may apply on every other week mowing request. Monthly mowing will be done by hour.

SQ FT	Price Ranges
0-5000	\$57.60 - \$86.40
5000-10000	\$75.60 - \$114.00
10000-15000	\$82.80 - \$126.00
15000-20000	\$90.00 - \$138.00
20000-25000	\$97.20 - \$150.00
25000-30000	\$104.40 - \$162.00
Larger	Contact Office

Lawn Fertilizer / Weed Control

Price per application

SQ FT	Price
0-5000	\$48.00
5000-10000	\$72.00
10000-15000	\$102.00
15000-20000	\$126.00
20000-25000	\$144.00
25000-30000	\$162.00
Larger	Contact Office

Mosquito and Tick Control Program

Consist of 8 treatments per year price per application. One treatment or additional treatments will be billed at an hourly rate plus the price for product. This will not eliminate all Mosquitos and ticks, but it will drastically reduce the amount.

SQ FT	Price
0-5000	\$45.99
5000-10000	\$68.99
10000-15000	\$74.99
15000-20000	\$91.99
20000-30000	\$114.99
25000-40000	\$137.99
Larger	Contact Office

Bed and Garden Maintenance

Weeding, Pruning and general clean up of beds. We will get done with what we can in the amount of time requested. If you would like additional time spent on your landscape, please contact office to schedule additional time. Our crews have decades of experience in the landscape field. They will do everything within their power to ensure a pristine landscape. The following is monthly costs per three options of bed maintenance services.

Hours Each Visit	Weekly	Every Two Weeks	Monthly
2	\$160*4=\$640	\$160*2=\$320	\$160
3	\$240*4=\$960	\$240*2=\$480	\$240
4	\$320*4=\$1280	\$320*2=640	\$320
5	\$400*4=\$1600	\$400*2=\$800	\$400
6	\$480*4=\$1920	\$480*2=\$960	\$480

Tree and Shrub Treatments

Fertilize, Insecticide and Fungicide of roses, perennials, shrubs, small trees

Price per application

# of small trees and shrubs	Price
0-40	\$89.00
41-60	\$115.00
61-80	\$142.00
\$81+	\$1.65 / shrub or tree

Perimeter Pest Control

Price per linear foot around each building or area to be treated.

Linear Foot Price	\$0.32 / LF
-------------------	-------------